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第一章 基础介绍 
一 托福考试介绍 

INTRODUCTION OF TOFEL 

考试形式 几个重要的数字 说明 

l 1st  

l 3or4 

l 60or80 

l 700 

l 12—14 

1._______________________ 

2._______________________ 

3._______________________ 

4._______________________ 

5._______________________ 

文章特点 文章的重要特征 说明 

l university-level textbooks 

l different subjects 
1._______________________ 

2._______________________ 

题目类型 各题型名称 说明 

1. Factual Information 
questions 

2. Negative Factual 
Information questions 

3. Inference questions  
4. Rhetorical Purpose 

questions 
5. Vocabulary questions  
6. Reference questions 
7. Sentence Simplification 

questions 
8. Insert Text questions 
9. Prose Summary  
10. Fill in a Table  
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二 评分体系 

RAW POINT 

TOTAL 

SCALE  

SCORE 

RAW POINT 

TOTAL 

SCALE 

SCORE 

45—44  30 24 16 

43—41  29 23 15 

40—39  28 22 14 

38—37 27 21 13 

36—35 26 20 12 

34 25 19  11 

33 24 18 9 

32--31 23 15 8 

30 22  16 7 

29 21 15 6 

28 20 14 5 

27 19 13 4 

26 18 12 3 

25 17 11 2 

三 备考常见问题 

常 见 问 题 Q&A 

1. 关于考试界面  

2. 关于电脑阅读  

3. 关于复习资料  

4. 关于阅读加试  
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四 学术类阅读的目的 

Purposes for Academic Reading 

Basic 
comprehension 

特征描述 重点说明 

Ø Understanding the general 
topic or main idea, major 
points 

Ø Facts and details, 
vocabulary in context, and 
pronoun references 

Ø Making inferences about 
what is implied in a passage 

 

Reading to 
learn 

特征描述 重点说明 

Ø Recognizing the 
organization and purpose 
of a passage 

Ø Understanding 
relationships between ideas 

Ø Organizing information into 
a category chart or a 
summary in order to recall 
major points and important 
details 

Ø Inferring how ideas 
throughout the passage 
connect 

 

Reading to find 
information 

特征描述 重点说明 

Ø Effectively scanning text 
for key facts and important 
information 

Ø Increasing reading fluency 
and rate 
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五 阅读突破体系 

 

 

 

 

² 万变不离其宗：打通________，把握_________ 
	
	
	
	
	
	
	
	
	
	
	
	
	

阅读

文章 题目

ü ________________ 

ü ________________ 

ü ________________ 

ü ________________ 

ü ________________ 

单词

句子

句句

篇章
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题型六：句子插入题 

一 题型介绍 

二 提问方式 

1）Look at the four squares [ ] that indicate where the following sentence could 

be added to the passage.  

   [You will see a sentence in bold] 

   Where would the sentence best fit? 

三 句间连接关系的确定 

OG 说明 题目特征 

In this type of question, you are given a 
new sentence and are asked where in 
the passage it would best fit. You 
need to understand the logic of 
the passage as well as the 
grammatical connections (like 
pronoun references) between 
sentences. Not every set include an 
Insert Text Question. There is never 
more than one in a set. 

● 

● 

题目本质 

● 

核心能力 

●句间关系判断的能力 

语意

逻辑

语意连贯 • 1. _______________________会重复出现

• 注意：____________的概括，__________的指代

逻辑衔接 • 1.____________________表示的逻辑衔接

• 注意：___________________________________
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语意角度：

●

逻辑角度：

●

四 解题方法： 

五 题目变化方式 

 

 

六 例题分析 

例 1 
Paragraph 6: Impacts by meteorites represent one mechanism that could 

cause global catastrophes and seriously influence the evolution of life all over 
the planet. ■According to some estimates, the majority of all extinctions of 
species may be due to such impacts. ■Such a perspective fundamentally 
changes our view of biological evolution. ■The standard criterion for the 
survival of a species is its success in competing with other species and 
adapting to slowly changing environments. ■Yet an equally important 
criterion is the ability of a species to survive random global ecological 
catastrophes due to impacts.  
13. Look at the four squares [■] that indicate where the following sentence can 
be added to the passage. 

This is the criterion emphasized by Darwin's theory of evolution 
by natural selection.  

Where would the sentence best fit? 
答案____________ 

1读句子

• 以
__________
______为核
心,________
__________
被插入句

2断关系

• 考虑
__________
______关系，
判断
__________
可能关系

3 回原文

• 注意：
__________
__________			
__________
__________
不可分



 

	 8	/	22	
		

例 2 
Paragraph 3: ■Exhibitors, however, wanted to maximize their profits, 

which they could do more readily by projecting a handful of films to hundreds 
of customers at a time (rather than one at a time) and by charging 25 to 50 
cents admission. ■About a year after the opening of the first Kinetoscope 
parlor in 1894, showmen such as Louis and Auguste Lumiere, Thomas Armat 
and Charles Francis Jenkins, and Orville and Woodville Latham (with the 
assistance of Edison's former assistant, William Dickson) perfected projection 
devices. ■These early projection devices were used in vaudeville theaters, 
legitimate theaters, local town halls, makeshift storefront theaters, 
fairgrounds, and amusement parks to show films to a mass audience.■ 
12. Look at the four squares [■] that indicate where the following sentence can 
be added to the passage. 

When this widespread use of projection technology began to 
hurt his Kinetoscope business, Edison acquired a projector 
developed by Armat and introduced it as “Edison’s latest marvel, 
the Vitascope." 

Where would the sentence best fit? 
答案____________ 

例 3 
Paragraph 1: Since 1980, the use of wind to produce electricity has been 

growing rapidly. ■In 1994 there were nearly 20,000 wind turbines worldwide, 
most grouped in clusters called wind farms that collectively produced 3,000 
megawatts of electricity. ■Most were in Denmark (which got 3 percent of its 
electricity from wind turbines) and California (where 17,000 machines 
produced 1 percent of the state’s electricity, enough to meet the residential 
needs of a city as large as San Francisco). ■In principle, all the power needs of 
the United States could be provided by exploiting the wind potential of just 
three states—North Dakota, South Dakota, and Texas. ■  
13. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage. 

Some companies in the power industry are aware of this wider 
possibility and are planning sizable wind-farm projects in states 
other than California. 

Where would the sentence best fit? 
答案____________ 
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例 4 
Paragraph 8: Much of the water in a sample of water-saturated sediment 

or rock will drain from it if the sample is put in a suitable dry place. ■But some 
will remain, clinging to all solid surfaces. ■It is held there by the force of 
surface tension without which water would drain instantly from any wet 
surface, leaving it totally dry. ■The total volume of water in the saturated 
sample must therefore be thought of as consisting of water that can, and water 
that cannot, drain away. ■ 
13. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage. 

What, then, determines what proportion of the water stays and 
what proportion drains away? 

Where would the sentence best fit?  
答案____________ 

例 5 
Paragraph 5: As her technological expertise grew more sophisticated, so 

did the other aspects of her dances. ■Although she gave little thought to music 
in her earliest dances, she later used scores by Gluck, Beethoven, Schubert, 
Chopin, and Wagner, eventually graduating to Stravinsky, Fauré, Debussy, 
and Mussorgsky, composers who were then considered progressive. ■She 
began to address more ambitious themes in her dances such as The Sea, in 
which her dancers invisibly agitated a huge expanse of silk, played upon by 
colored lights. ■Always open to scientific and technological innovations, she 
befriended the scientists Marie and Pierre Curie upon their discovery of 
radium and created a Radium Dance, which simulated the phosphorescence of 
that element. ■She both appeared in films—then in an early stage of 
development—and made them herself; the hero of her fairy-tale film Le Lys de 
la Vie (1919) was played by René Clair, later a leading French film director. 
13. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage. 

For all her originality in dance, her interests expanded beyond it 
into newly emerging artistic media. 

Where would the sentence best fit? 
答案____________ 
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例 6 
Paragraph 2: One of the most puzzling aspects of the paintings is their 

location. Other rock paintings—for example, those of Bushmen in South 
Africa—are either located near cave entrances or completely in the open. ■ 
Cave paintings in France and Spain, however, are in recesses and caverns far 
removed from original cave entrances. ■This means that artists were forced to 
work in cramped spaces and without sources of natural light. ■It also implies 
that whoever made them did not want them to be easily found. ■Since cave 
dwellers normally lived close to entrances, there must have been some reason 
why so many generations of Lascaux cave dwellers hid their art. 
12. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage. 

This made it easy for the artists to paint and display them for the 
rest of the cave dwellers. 

Where would the sentence best fit? 
答案_________ 
例 7 

Paragraph 4: Modern attitudes to Roman civilization range from the 
infinitely impressed to the thorough disgusted. ■As always, there are the 
power worshippers, especially among historians, who are predisposed to 
admire whatever is strong, who feel more attracted to the might of Rome than 
to the subtlety of Greece. ■At the same time, there is a solid body of opinion 
that dislikes Rome. ■For many, Rome is at best the imitator and the 
continuator of Greece on a larger scale. ■Greek civilization had quality; Rome, 
mere quantity. Greece was the inventor; Rome, the research and development 
division. Such indeed was the opinion of some of the more intellectual 
Romans.” had the Greeks held novelty in such disdain as we,” asked Horace in 
his Epistle, “what work of ancient date would now exist?” 
13. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage. 

They esteem symbols of Roman power, such as the massive 
Colosseum. 

Where would the sentence best fit? 
答案____________ 

例 8 
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Paragraph 2: ■Most investigators concur that certain facial expressions 
suggest the same emotions in all people. ■Moreover, people in diverse 
cultures recognize the emotions manifested by the facial expressions. ■In 
classic research Paul Ekman took photographs of people exhibiting the 
emotions of anger, disgust, fear, happiness, and sadness. ■He then asked 
people around the world to indicate what emotions were being depicted in 
them. Those queried ranged from European college students to members of 
the Fore, a tribe that dwells in the New Guinea highlands. All groups, 
including the Fore, who had almost no contact with Western culture, agreed 
on the portrayed emotions. The Fore also displayed familiar facial expressions 
when asked how they would respond if they were the characters in stories that 
called for basic emotional responses.  Ekman and his colleagues more 
recently obtained similar results in a study of ten cultures in which 
participants were permitted to report that multiple emotions were shown by 
facial expressions. The participants generally agreed on which two emotions 
were being shown and which emotion was more intense. 
12. Look at the four squares [■] that indicates where the following sentence 
could be added to the passage. 

This universality in the recognition of emotions was 
demonstrated by using rather simple methods. 

Where would the sentence best fit? 
答案____________ 

例 9 
Paragraph 5: Opportunists must constantly invade new areas to 

compensate for being displaced by more competitive species. Human 
landscapes of lawns, fields, or flowerbeds provide settings with bare soil and a 
lack of competitors that are perfect habitats for colonization by opportunists. 
■Hence, many of the strongly opportunistic plants are the common weeds of 
fields and gardens. ■Because each individual is short-lived, the population of 
an opportunist species is likely to be adversely affected by drought, bad 
winters, or floods. ■If their population is tracked through time, it will be seen 
to be particularly unstable—soaring and plummeting in irregular cycles. ■  
11. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage. 

Such episodic events will cause a population of dandelions, for 
example, to vary widely. 

Where would the sentence best fit? 
答案____________ 
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例 10 
Paragraph 2: Continued sedimentation—the process of deposits' settling 

on the sea bottom—buries the organic matter and subjects it to higher 
temperatures and pressures, which convert the organic matter to oil and gas. 
■As muddy sediments are pressed together, the gas and small droplets of oil 
may be squeezed out of the mud and may move into sandy layers nearby. ■ 
Over long periods of time (millions of years), accumulations of gas and oil can 
collect in the sandy layers. ■Both oil and gas are less dense than water, so they 
generally tend to rise upward through water-saturated rock and sediment. ■ 
13. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage.  

Unless something acts to halt this migration, these natural 
resources will eventually reach the surface.  

Where would the sentence best fit?  
答案____________ 

例 11 
Paragraph 1: What do you remember about your life before you were three? 

■Few people can remember anything that happened to them in their early 
years. ■Adults' memories of the next few years also tend to be scanty. ■Most 
people remember only a few events--usually ones that were meaningful and 
distinctive, such as being hospitalized or a sibling’s birth. ■ 
13. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage 

Other important occasions are school graduations and 
weddings. 

Where would the sentence best fit? 
答案____________ 

例 12 
Paragraph3: One interpretation regarding the absence of fossils during this 

important 100-million-year period is that early animals were soft bodied and 
simply did not fossilize. ■Fossilization of soft-bodied animals is less likely 
than fossilization of hard-bodied animals, but it does occur. ■Conditions that 
promote fossilization of soft-bodied animals include very rapid covering by 
sediments that create an environment that discourages decomposition.■In 
fact, fossil beds containing soft-bodied animals have been known for many 
years. ■ 
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13. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage. 

It is relatively rare because the fossilization of soft-bodied 
animals requires a special environment. 

Where could the sentence best fit? 
答案____________ 

例 13 
Paragraph5: ■Modern architectural forms generally have three separate 

components comparable to elements of the human body; a supporting 
skeleton or frame, an outer skin enclosing the interior spaces, equipment, 
similar to the body’s vital organs and systems. ■The equipment includes 
plumbing, electrical wiring, hot water, and air-conditioning. ■Of course in 
early architecture—such as igloos and adobe structures—there was no such 
equipment, and the skeleton and skin were often one. ■ 
12. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage. 

However, some modern architectural designs, such as those 
using folded plates of concreter or air-inflated structures, are again 
unifying skeleton and skin.  

Where would the sentence best fit?  
答案_________ 
例 14 

Paragraph 4: Trade between the West and the settled and prosperous 
Chinese dynasties introduced new forms and different technologies. One of the 
most far-reaching examples is the impact of the fine ninth-century AD. Chinese 
porcelain wares imported into the Arab world. ■So admired were these 
pieces that they encouraged the development of earthenware made in 
imitation of porcelain and instigated research into the method of their 
manufacture. ■From the Middle East the Chinese acquired a blue pigment—a 
purified form of cobalt oxide unobtainable at that time in China—that 
contained only a low level of manganese. Cobalt ores found in China have a 
high manganese content, which produces a more muted blue-gray color. ■In 
the seventeenth century, the trading activities of the Dutch East India 
Company resulted in vast quantities of decorated Chinese porcelain being 
brought to Europe, which stimulated and influenced the work of a wide variety 
of wares, notably Delft. ■The Chinese themselves adapted many specific vessel 
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forms from the West, such as bottles with long spouts, and designed a range of 
decorative patterns especially for the European market. 
13. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage.  

Foreign trade was also responsible for certain innovations in 
coloring. 

Where could the sentence best fit? 
答案____________ 

例 15 
Paragraph 6: The diffusion of agriculture and later of iron was 

accompanied by a great movement of people who may have carried these 
innovations. These people probably originated in eastern Nigeria. ■Their 
migration may have been set in motion by an increase in population caused by 
a movement of peoples fleeing the desiccation, or drying up, of the Sahara. 
■They spoke a language, prior-Bantu (“Bantu” means “the people”), which is 
the parent tongue of a language of a large number of Bantu languages still 
spoken throughout sub-Sahara Africa. Why and how these people spread out 
into central and southern Africa remains a mystery, but archaeologists believe 
that their iron weapons allowed them to conquer their hunting-gathering 
opponents, who still used stone implements. ■Still, the process is uncertain, 
and peaceful migration—or simply rapid demographic growth—may have also 
caused the Bantu explosion. ■ 
13. Look at the four squars [■] that indicate where the following sentence 
could be added to the passage. 

These people had a significant linguistic impact on the continent 
as well. 

Where would the sentence best fit? 
答案____________ 

例 16 
Paragraph 6: ■Ecologists are especially interested to know what factors 

contribute to the resilience of communities because climax communities all 
over the world are being severely damaged or destroyed by human activities. 
■The destruction caused by the volcanic explosion of Mount St. Helens, in the 
northwestern United States, for example, pales in comparison to the 
destruction caused by humans. ■We need to know what aspects of a 
community are most important to the community’s resistance to destruction, 
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as well as its recovery. ■ 
13. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage. 

In fact, damage to the environment by humans is often much 
more severe than damage by natural events and processes. 

Where would the sentence best fit?  
答案____________ 

例 17 
Paragraph 7: In addition to the internal variability of the global climate 

system itself, there is the added factor of external influences, such as volcanoes 
and solar activity. ■There is a growing body of opinion that both these 
physical variations have a measurable impact on the climate. ■Thus we need 
to be able to include these in our deliberations. ■Some current analyses 
conclude that volcanoes and solar activity explain quite a considerable amount 
of the observed variability in the period from the seventeenth to the early 
twentieth century’s, but that they cannot be invoked to explain the rapid 
warming in recent decades.■ 
13. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage. 

Indeed, the contribution of volcanoes and solar activity would 
more likely have been to actually reduce the rate of warming 
slightly. 

Where would the sentence best fit? 
答案____________ 

例 18 
Paragraph 5—6: The reaction of farmers to the inevitable depletion of the 

Ogallala varies. Many have been attempting to conserve water by irrigating 
less frequently or by switching to crops that require less water. ■Other, 
however, have adopted the philosophy that it is best to use the water while it is 
still economically profitable to do so and to concentrate on high-value crops 
such as cotton. ■The incentive of the farmers who wish to conserve water is 
reduced by their knowledge that many of their neighbors are profiting by 
using great amounts of water, and in the process are drawing down the entire 
region’s water supplies.■ 

In the face of the upcoming water supply crisis, a number of grandiose 
schemes have been developed to transport vast quantities of water by canal or 
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pipeline from the Mississippi, the Missouri, or the Arkansas rivers. 
■Unfortunately, the cost of water obtained through any of these schemes 
would increase pumping costs at least tenfold, making the cost of irrigated 
agricultural products from the region uncompetitive on the national and 
international markets. Somewhat more promising have been recent 
experiments for releasing capillary water (water in the soil) above the water 
table by injecting compressed are into the ground. Even if this process proves 
successful, however, it would almost triple water costs. Genetic engineering 
also may provide a partial solution, as new strains of drought-resistant crops 
continue to be developed. Whatever the final answer to the water crisis may be, 
it is evident that within the High Plains, irrigation water will never again be 
the abundant, inexpensive resource it was during the agricultural boom years 
of the mid-twentieth century. 
13. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage. 

But even if uncooperative farmers were to join in the 
conservation efforts, this would only delay the depletion of the 
aquifer. 

Where would the sentence best fit?  
答案____________ 

例 19 
Paragraph 3: The subjects of the paintings are mostly animals. The 

paintings rest on bare walls, with no backdrops or environmental trappings. 
Perhaps, like many contemporary peoples, Upper Paleolithic men and women 
believed that the drawing of a human image could cause death of injury, and if 
that were indeed their belief, it might explain why human figures are rarely 
depicted in cave art. Another explanation for the focus on animals might be 
that these people sought to improve their luck at hunting. ■This theory is 
suggested by evidence of chips in the painted figures, perhaps made by spears 
thrown at the drawings. ■But if improving their hunting luck was the chief 
motivation for the paintings, it is difficult to explain why only a few show signs 
of having been speared. ■Perhaps the paintings were inspired by the need to 
increase the supply of animals. Cave art seems to have reached a peak toward 
the end of the Upper Paleolithic period, when the herds of game were 
decreasing.■ 
13. Look at the four squares [■] that indicate where the following sentence 
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could be added to the passage.  
Therefore, if the paintings were connected with hunting, some 

other explanation is needed.  
Where would the sentence best fit?  

答案____________ 

例 20 
Paragraph 6: Under very cold conditions, rocks can be shattered by ice and 

frost. Glaciers may form in permanently cold areas, and these slowly moving 
masses of ice cut out valleys, carrying with them huge quantities of eroded 
rock debris. ■In dry areas the wind is the principal agent of erosion. ■It 
carries fine particles of sand, which bombard exposed rock surfaces, thereby 
wearing them into yet more sand. ■Even living things contribute to the 
formation of landscapes. ■Tree roots force their way into cracks in rocks and, 
in so doing, speed their splitting. In contrast, the roots of grasses and other 
small plants may help to hold loose soil fragments together, thereby helping to 
prevent erosion by the wind. 
11. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage. 

Under different climatic conditions, another type of destructive 
force contributes to erosion. 

Where would the sentence best fit? 
答案____________ 

例 21 
Paragraph 5: It has not been common at Earth’s since the very beginning 

of the planet’s history. Because it usually exists in a metallic state, it was 
preferentially incorporated in Earth’s core as the planet cooled and 
consolidated. lr is found in high concentrations in some meteorites, in which 
the solar system’s original chemical composition is preserved. Even today, 
microscopic meteorites continually bombard Earth, falling on both land and 
sea. By measuring how many of these meteorites fall to Earth over a given 
period of time, scientists can estimate how long it might have taken to deposit 
the observed amount of lr in the boundary clay. ■These calculations suggest 
that a period of about one million years would have been required. ■However, 
other reliable evidence suggests that the deposition of the boundary clay could 
not have taken one million years. ■So the unusually high concentration of lr 
seems to require a special explanation. ■ 
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13. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage. 

Consequently, the idea that the lr in the boundary clay came 
from microscopic meteorites cannot be accepted. 

Where would the sentence best fit? 
答案____________ 

例 22 
Paragraph 5: The Psychodynamic Approach. Theorists adopting the 

psychodynamic approach hold that inner conflicts are crucial for 
understanding human behavior, including aggression. Sigmund Freud, for 
example, believed that aggressive impulses are inevitable reactions to the 
frustrations of daily life. Children normally desire to vent aggressive impulses 
on other people, including their parents, because even the most attentive 
parents cannot gratify all of their demands immediately. ■Yet children, also 
fearing their parents' punishment and the loss of parental love, come to 
repress most aggressive impulses. ■The Freudian perspective, in a sense: sees 
us as "steam engines." ■By holding in rather than venting "steam," we set the 
stage for future explosions. ■Pent-up aggressive impulses demand outlets. 
They may be expressed toward parents in indirect ways such as destroying 
furniture, or they may be expressed toward strangers later in life. 
11. Look at the four squares [■] that indicate where the following sentence can 
be added to the passage. 

According to Freud, however, impulses that have been 
repressed continue to exist and demand expression. 

Where would the sentence best fit? 
答案____________ 

例 23 
Paragraph 6: Icebergs are ordinarily blue to white, although they 

sometimes appear dark or opaque because they carry gravel and bits of rock. 
They may change color with changing light conditions and cloud cover, 
glowing pink or gold in the morning or evening light, but this color change is 
generally related to the low angle of the Sun above the horizon. ■However, 
travelers to Antarctica have repeatedly reported seeing green icebergs in the 
Weddell Sea and, more commonly, close to the Amery Ice Shelf in East 
Antarctica. ■One explanation for green icebergs attributes their color to an 
optical illusion when blue ice is illuminated by a near-horizon red Sun, but 
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green icebergs stand out among white and blue icebergs under a great variety 
of light conditions. ■Another suggestion is that the color might be related to 
ice with high levels of metallic compounds, including copper and iron. 
■Recent expeditions have taken ice samples from green icebergs and ice 
cores—vertical, cylindrical ice samples reaching down to great depths—from 
the glacial ice shelves along the Antarctic continent. Analyses of these cores 
and samples provide a different solution to the problem. 
13. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage. 

Scientists have differed as to whether icebergs appear green as a 
result of light conditions or because of something in the ice itself. 

Where would the sentence best fit? 
答案____________ 

例 24 
Paragraph5: Scientists have known for some time that certain plants, 

called hyper accumulators, can concentrate minerals at levels a hundredfold 
or greater than normal. ■A survey of known hyper accumulators identified 
that 75 percent of them amassed nickel, cobalt, copper, zinc, manganese, lead, 
and cadmium are other minerals of choice. ■Hyper accumulators run the 
entire range of the plant world. ■They may be herbs, shrubs, or trees. ■Many 
members of the mustard family, spurge family, legume family, and grass 
family are top hyper accumulators. Many are found in tropical and subtropical 
areas of the world, where accumulation of high concentrations of metals may 
afford some protection against plant-eating insects and microbial pathogens. 
13. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage. 

Certain minerals are more likely to be accumulated in large 
quantities than others. 

Where could the sentence best fit? 
答案____________ 

例 25 
Paragraph 3: ■Watt's steam engine soon showed what it could do. ■It 

liberated industry from dependence on running water. ■The engine 
eliminated water in the mines by driving efficient pumps, which made 
possible deeper and deeper mining. ■The ready availability of coal inspired 
William Murdoch during the 1790s to develop the first new form of nighttime 
illumination to be discovered in a millennium and a half. 
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12. Look at the four squares [■] that indicate where the following sentence 
could be added to the passage 

The factories did not have to go to the streams when power 
could come to the factories． 

Where would the sentence best fit? 
答案____________ 
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题型六：句子插入题 
例 1 答案 D 
例 2 答案 D 
例 3 答案 D 
例 4 答案 D 
例 5 答案 D 
例 6 答案 A 
例 7 答案 B 
例 8 答案 C 
例 9 答案 C 
例 10 答案 D 
例 11 答案 D 
例 12 答案 B 
例 13 答案 D 
例 14 答案 B 
例 15 答案 B 
例 16 答案 B 
例 17 答案 D 
例 18 答案 C 
例 19 答案 C 
例 20 答案 A 
例 21 答案 C 
例 22 答案 B 
例 23 答案 B 
例 24 答案 A 
例 25 答案 C 
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